N = 0l & At & Ml A

SA: =0

=
=
Ha: HAS
e

EHel: HASE A=2=0 NY(SE)(A=2S0HIISEL3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
==X 549,133 564,843 A 15,710
= 107,756
< 36,962
s 404,415
HASS &9 & a4 &2 483,447 512,116 A 28,669
= 79,379
< 29,868
[ia 374,200
HASE d2=50 NY(SL)(A2SHIISELIAH) 483,447 512,116 A 28,669
= 79,379
< 29,868
[ia 374,200
22g 2el BE 372,200 356,529 15,671
308 XtXIEHH SOl A 372,200 356,529 15,671
07 IXNSHH UL S 372,200 356,529 15,671
O 92280 Al=ZH 2 372,200
SES0 ALY &E 2| 10,023 14,542 A4,519
< 10,023
201 Let24d] 4,623 7,142 22,519
< 4,623
01 At 22l 4,623 7,142 22,519
O=2Hl % 2g=¢ 4,623
= 4,623
202 oddl 5,000 7,000 A 2,000
< 5,000
01 = LH o4 1 5,000 7,000 A 2,000
O=&0tl 5,000
< 5,000
301 LA F 400 400 0
= 400
12 J|EtE4 = 400 400 0
SEHD ADENS 400
< 400
S=sWAY 78,358 115,685 N 37,327
= 62,686
< 15,672
301 LEHZ 73,358 105,685 N 32,327
= 58,686
< 14,672
01 MEIE2EZE+05l= 73,358 105,685 N 32,327
OZOMAE RN, QH  BAUSMEZH S 73,358
= 58,686
= 14,672
307 21201 A 5,000 10,000 A5,000
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2N X0
|

g
HE: HASS 49 B B4 2
EHel: HASE A=2=0 NY(SE)(A=2S0HIISEL3AH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 4,000
< 1,000
01 2724l 5,000 10,000 A5,000
Oo=esg gs=s 5,000
= 4,000
< 1,000
AL ME R | 20,866 23,360 A2,494
= 16,693
< 4,173
301 LEEAF 20,866 23,360 A2,494
= 16,693
< 4,173
12JIE243 20,866 23,360 A2,494
OFal g SN | 20,866
= 16,693
= 4,173
ol g1yl 2,000 2,000 0
801 Gl Hl bl 2,000 2,000 0
01 BHoil bl bl 2,000 2,000 0
oolglsl 2,000
Heas(=2U=X1) 11,215 11,215 0
BENE(Yd220HIISSEsH) 11,215 11,215 0
2Xxg gHa 11,215 11,215 0
802 BtEt= DI EF 11,215 11,215 0
02 Al - EHIEXZSEHEZ 11,215 11,215 0
OZHIExZ3 Bte 3 11,215
HH2IZH(FU=XD) 54,471 41,512 12,959
= 28,377
< 7,094
i 19,000
AHARIH(AZSHIISSLESA) 54,471 41,512 12,959
= 28,377
< 7,094
e 19,000
Sz=0ael AB2L(XA) 19,000 7,000 12,000
101 124 dl 19,000 7,000 12,000
03 RIAHAZZ2 T E =+ 19,000 7,000 12,000
Ozl A HEI(AE = &) 19,000
=0 AE2I(Ex) 35,471 34,512 959
= 28,377
< 7,094
101 14l 35,471 34,512 959
= 28,377
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SN FUSKD
HE: HY2IFH (FUSN D)
G olEAY| (2 SHII=SELSAH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 7,094
03 RIAHL*ZZXHE S 35,471 34,512 959
O 2el Al 21 24H| 35,471
= 28,377
o= 7,094
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